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Please check that this question paper contains 16 printed pages.
Code number given on the right hand side of the question paper should be

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the questmn before
attempting it.

15 minute time has been allotted to read this question paper. The question
-paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,

the students will read the question paper only and will not write any
answer on the answer-book during this period.
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General Instructions :

" () ° The question paper comprises two sections, A and B. You are to attempt
both the sections. '

(i) All questions are compulsory.
(iii)  There is no choice in any of the questions.

(iv)  All questions of Section A and all questions of Section B are to be
attempted separately. :

(v)  Question numbers 1 to 8 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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5. 'wﬁmaﬁwﬁ%m?ﬁ?m%‘R’(3R’s)©a%nm?q€f%?mvﬁm%a,’
wﬁﬁq%Wﬁaﬁ%mmmﬁaﬂaﬁm?ﬁqum
 Trg v | 2

What is meant by three types of ‘R’ (3-R’s) to sVave the environment ?
Explain with examples how would you follow the 3-R’s in your school to
save the environment.

6. e % “oftw w9 A o R o B g | 2

List four advantages of water stored in the ground as “ground water”.

7. Tfofea e % orfew @y faRen ot v sewehfg O

i’-‘?‘l’fSQ : : : 3
@ R s

() T

(i) womE

Write the molecular formula of the following compounds and draW their
electron-dot structures :

@ Ethane
(i1)  Ethene
(iii) Ethyne

8. Wfrﬁrﬁ%mwﬁwm%?ﬁmﬁrﬁ@aﬁﬁﬁ%

HEEHTCTh G 3R STeh JohrTesh e i atfersht & &9 F forflae 3
G wEE
(i)  THTgh 37

What is meant by functional group in carbon compounds ? Write in
tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(i1)  Ethanoic acid

9. T 3 ifieRol w1 Y@ e fofew | o % 3w aﬂwﬁﬁﬂmﬂﬁmm

- fafe e swin smgfie smad roft @ feRe w0 fer o 2

m%mﬁmwlaﬂgﬁ%mm%ﬁqﬁmﬁmw@ﬁ
ST R STeg3T I qrd ? 3
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(vii)  Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multi;vle choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

(x)  Question numbers 34 to 86 in Section B are two marks questions based. on
' practical skills. These are to be answered in brief.

" A
SECTION A

1. wmwmﬁr@qmﬁmmwﬁaﬁmwﬁﬁwﬁaﬁa
ToReT ST 2 | 1
Name the process by Whlch unsaturated fats are changed to saturated
fats.

2. ‘W”W%%R%desﬁﬁﬁmﬁﬁfﬁwmﬁf@ql 1

Name the causative agent of the disease “Kala-azar” and its mode of
asexual reproduction.

3. ﬁﬁr%ﬁ\@?r Sl 1% AR @e s ¥ | 3 & 5 Shig ¥ e Pcfeuhy
Tl <kl it Higar gl 2 36 grate aiteeAT % A o R |

shie, 9, o, §i9, Hes | | 1

The following organisms form a food chain. Which of these will have the

highest concentration of non-biodegradable chemicals ? Name the
phenomenon associated with it.

Insects, Hawk, Grass, Snake, Frog.

4. R Rl W e 2 0w i | , | 2

Why do stars appear to twinkle ? Explain.

31/2/1 3 ’ - P.T.O.




15. ‘%mw%%ﬁéa&wm?ﬁémmmqﬁml 3 T H

¥ T ITYH SSTE oL HIRTT |

“It is possible that a trait is inherited but may not be expressed ” Give a
suitable example to Justlfy this statement.

16, Trofafed vo v 3 quakla m Eaieb] ‘c{?ﬁﬁ & foru e foem Cﬂﬁ@
i | e Y HiE o e st adn &
() Y9 T SO % T A& W I @ T Afed B |
(b) T BiHE i 3 FERm ? | |
() T&T 31§ H =R 2 |

Draw a ray dlagram to show the path of the reflected ray in each of the
following cases. A ray of light incident on a convex mirror

(a)  strikes at its pole making an angle 6 from the principal axis.
(b)  is directed towards its principal focus.
(c)  is parallel to 1ts principal axis.
17. AW giew aun feifaq W%wamé% ?S?‘Tﬁirmaﬁﬁ EIEIET
M@ e TE HRT | '

What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.

18. 3NSF =B ?a—s’mgm‘mﬁ Exe) xqousﬁl‘qaal qﬂdl%?wﬁﬁ?ﬂ{ﬁ%
el TTiias =) 58 Teer ol e

What is ozone ? How and where is it formed in the atmosphere ? Explain
how does it affect an ecosystem.

19. I AfF T H I a7 AU GASTHAT BT s@tcr;Td T e YT
3T B hsh IHE W Soiwglh fa=md W a € | HRU e §U TR
W%W@W%Wﬁwmwmwﬁ%éwﬁ
T L Fehat | I ARt 3 9 ot aery oft el et °
MY % TR & A fafae | sRw afge a1 ff Wy Hife B s D
AT e, & FaTers 41 81 § | |
Elements forming ionic compounds attain noble gas electronic
configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by
carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.

31/2/1 | 6




Write the main aim of classifying elements. Name the basic property of
elements used in the development of Modern Periodic Table. State the

- Modern Periodic Law. On which side (part) of the Modern Perlodm Table
do you find metals, metalloids and non- metals ?

10. el a9 X’ T TRHTY] SHHTeh 20 2 | L | 3
() = X H red qnoh § fefy et ik |
(i) T K h T YV (I FHA 8) ¥ Rifsrn/dT g w9 N w5
BERICa
(iii) waﬁzﬁﬁaﬁ%ﬁaéﬁa&mm?mwaﬁﬁ
| |

The atomic number of an element X’ is 20. ,

(i) = Determine the position of the element X’ in the periodic table.

(i)  Write the formula of the compound formed when X
‘reacts/combines with another element Y’ (atomic number 8).

(iii) What would be the nature (acidic or basic) of the compound
formed ? Justify your answer.

11. aﬁﬁmwﬁtéﬁaﬁw%aﬁa@ww%ﬁa@lﬁﬁ@ww
qrell AT AR S A el wiiefis § 4 oS g st oishis 6
ﬁwﬁﬁm%aﬁa@aaﬁ?ﬁwmmém%?aﬁmﬁgﬁz
HiT | 3

Write one main difference between asexual and sexual mode of
reproduction. Which species is likely to have comparatively better
chances of survival — the one reproducing asexually or the one
reproducing sexually ? Justify your answer.

12. Wﬁw(ﬁ)ﬁ%ﬁwﬁml%mwﬁm | y
TR e 2 2 3 |

Explain the process of regeneration .in Planaria. How is this process
different from reproduction ?

18. 'ﬁﬁfaw%?mwlﬁsﬁ*wq?ﬁméﬁﬁql 3

What is placenta ? Explain its function in humans.

14. ‘ﬁmﬂw%%@wmaww‘aﬁmmwn% l”@mwﬁ@@wk
3 % H gl fifdg | 3

“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.

31/2/1 5 | » P.T.0.




21.

22,

G-I T} 2 Tfa-3ewe § TE9h IR B Tﬁ g TET | 31 FRSH ﬁ

%aﬁqmwﬁm;ﬂsﬂa%ﬁﬁ%mﬁmwmmﬁﬁ
Hhdl ? TI8 HINT |
What is speciation ? List four factors that could lead to speciation. Which

of these cannot be a major factor in the speciation of a self-polhnatmg
plant species ? Explain.

’ehls 3 aqwa&mamm?ﬁ?ﬁwwgﬁﬁwﬁﬁﬁmqﬁaﬁmwy

% Iﬁﬁaﬁﬁ%mm IFER B
STl 61 @S = 15 em
a&wﬁqﬁwzﬁ =12 cm
Waﬁaﬁm@z@;mcm

ﬁmﬁm%g@@%%m%,’ﬁﬁw&ﬁgdwqflehmw:

(a)  idfses <6} qdor & g

[ oS ant

(b)  Ufafers & T3

afy e 1 4 A f 10cmao‘{am,a‘rq€wwﬁ@é%m?mm
ﬁg@mqﬁﬁwﬁ%mg Exwiicirec @Wﬁfﬁml '

A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 15 cm
‘Focal length of the mirror = 12 cm
Distance of flame from the mirror = 18 cm

If the flame is perpendmular to the principal axis of the mirror, then
calculate the following :

(a)  Distance of the image from the inirror
(b)  Length of the image

If the distance between the mirror and the flame is reduced to 10 cm,
then what would be observed on the screen ? Draw ray diagram to justify

your answer for this situation.
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20. (a) %qmwﬁ@ﬁA,B,csﬁtDﬁwﬁqﬁnm%w%ﬁam

(b) T fRY %R § 2 3O O SRR
() g § fv=m it wftham THemsT | TS0 % 39 WET % AW ﬁ?l%lﬁ Sl

EEECIEAEEI
@) o9 folta g g, |
() A FERAA TR | B

(a)  Identify A, B, C and D in the given diagram and write their names.

(b) What is pollinafion ? Explain its significance.
'(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into
(i)  seed,
(1) fruit.

321 7 | PTO.
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SECTION B

25. i3 O UEIRR® v il TH §g Usw et fremw 1w w ot iR @ R
93 W ST § | 9% I8 V&0 T R ' 1
(&) ‘gmmmwﬁ@qs}wéaﬁtﬁﬁmwﬁaﬁéqﬁaﬁﬁ
i
(B) mcuaﬁamtﬁwm%aﬁtdm fTeHE I3 AT 81 ST B |
(©) Fﬂamqﬁﬁﬁéqﬁaﬁ?q‘é‘@maﬂtmmmcuatﬁwm@oﬂm
2
(D) 9 ferg = 8§ 9% uiEda 98 g o o me.HaqSHmr‘éwum
?

A student puts a drop of acetic acid first on a blue litmus paper and then
on a red litmus paper. He would observe that *

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

- (B) the red litmus paper turns blue and the blue litmus paper turns
red.

(C) there is no change in the red litmus paper and the blue litmus
paper turns red.

(D)  there is no change in the blue litmus paper and the red litmus
paper turns blue.

26. mmﬁWawwdeammﬁzaﬂﬁ@ﬁmﬁm |
RS, o
() ¥Ee S al-cd\fasrmol01‘§l VU
an  xfufsean fisor A el wia R
(D) 6 Sl S 1 s B g |
(V) e SR e S T R |
T 9 g Rwafvri s § 2
(A) whad 3R 111
(B) I, II 3R III

(€ ILIIARIV
(D) HaT IR
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23, %mﬁaaﬁwﬁwm%?mmm. (S.I) W =1 8 2 fopm
SRR h T T HHAT e Bt o |

What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive. ’

The image of an object formed by a lens is real, inverted and of the same
size ‘as the object. If the image is at a distance of 40 em from the lens,
what is the nature and power of the lens ? Draw ray diagram to Justify
your answer, :

2 mh%ﬁmﬁf@ammwm%@q: . 5

waﬁwwwmﬁﬁ%&m%m@ﬁ*ﬁ%ﬁmmm
% IARETHT % e F sevw Rrfw | ~

State the function of each of the following parts of the human eye :

i) Cornea

(i)  Iris

(iii) -~ Pupil

(iv)  Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea

31/2/1 | 9 o P.T.0.




21.

While studying saponification reactions, the following comments were |
noted down by the students :

@
(ID)
(I1D)
a)

Soap is a salt of fatty acids.
The reaction mixture is basic in nature.
In this reaction heat is absorbed.

‘This reaction is not a neutralisation reaction.

Which of these are the correct comments ?

(@A)

(B)
©)
(D)

I and III only

I, and III

I, T and IV
I and II only

I BE TR WA I, 11, III 3 IV ¥, 9&% § 4 mL 3Tga e ot 37
=R " &0 - el I NaCl, Werelt 118 CaCly, Waael 11§ MgCl,
HR qrEAet IV H KC1 I 99 9T Sl 8 | 36 IeTd 98 Toish qaEel
fou T wEA & aia H 8 g Mo wEet i gl w10 SR o §

foh wEiorl § S s ST 7 o
A IS -

(B) HI9I

(©) 13V

D) HIsIv

31/2/1

A student takes 4 mL of distilled water in each of four test tubes I, II, III
and IV, and then dissolves an equal amount of four different salts namely
NaClin I, CaCl, in II, MgCl, in III and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TIandII
(B) IlIandIII
(C) TIandIV
(D) IIandIV

-1 . P.T.O.
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30 YA % A = A9 fer e E
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(D) o 9 fou § %o wet & o #fif |

aw aﬁmwﬁmmlﬁﬁﬁwmﬁwmwﬁq
' %%ﬁﬁ@ﬁ@sﬂml

- 7 =R 1 WL A ]

(A IOLLIV,II

(B) IILIV,LII

(C) I LILIV

(D) MLILLIV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

D
(ID

- In

(IV)

Soak the pea seeds in plain water and keep them overnight.
Cut open the soaked seed and observe its different parts.
Take some pea seeds in a petri dish. '

Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as’it is for a day.

- The correct sequence of these steps is

(A)
(B)
©
(D)

IIL, I, IV, IT
L 1v, L 11
IL, I, 11, IV
L 1L, 1, IV

29. Tl wem 7, mﬁﬁﬁ&asﬂeﬁ%m@q@%w@%
- Tieel/aegel/RET T QW0 HRT T | Y07 H 9N S A qESd alEe
% Ffafed W g ST | @& @ S gAY

(A)
(B)
(O
(D)
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In a class, students were asked to observe the models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly
(B)  Wings of a pigeon and a bat
(C) = Wings of a butterfly and a bat

(D)  Forelimbs of a cow, a duck and a lizard

30. ToRelt o™ I v O g SR < gred R W W mwedt ht s w

e wfifer w w T e | fie 3 gl Fowew g0 W SR e

~ freream T W WA H lﬂgﬁ@%%ﬁﬁﬂﬁﬁﬂﬁﬁﬁw
gae T | 38 o w0 S =R ? | 1

(A) T IG § G WA TR |

(B) €YUl Wi I3 I I TLHAT AT | |

(© i o R g B AR T R |
(D) Faer T H A g A i wwE =R | '

A student obtained on a screen the sharp image of a candle flame placed

at the farther end of laboratory table using a concave mirror. For getting

better value of focal length of the mirror, the teacher suggested to him to
~ focus the sun. What should the student do ?

(A)  Should move the mirror aWay from the screen.

. (B)  Should move the mirror towards the screen.
(C)  Should move the mirror and screen both towards the sun.

(D)  Should move only the screen towards the sun.

31. Wéﬁﬁqﬁw@ﬁﬁ&amwméﬂmfﬂﬁwﬁmw
yfafers 9¢ T winfla & H1 TTE *{q%lﬁwaﬁmﬁgﬁ%m

forea & gre S| BT =0(RT ? 1
(A)  Hien 3R ¥ga Bl | |
B) iy 3R T

(C) e AR g

(D) 3T AR FEA B
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While determining the focal length of a ¢convex lens, you try to focus the

- image of a distant object formed by the lens on the screen. The image

32.

formed on the screen, as compared to the object, should be

(A)  erect and highly diminished ,
(B) erect and enlarged‘

(C) . inverted and enlai‘ged
(D)  inverted and highly diminished

"

i b AETHER W D oA STt TehTer TR0 T 9 STfEd ) % %Q:ﬁ%‘

it ¢ = e srareenad @ i sraeen SR 2 0

N |

14

i
'
i
|

(A) - (®) | (©) (D)

. Which of the following is the best experimental set-up out of the four

31/2/1

shown for tracing the path of a ray of light passing through a rectangular

glass slab ?

A (B) © (D

14

]
1
|
i
1
J
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- 33, ‘—ﬁ%ﬁ:qnqaﬂ a&@ﬁﬁ%ﬁm%ﬁﬁwﬁaﬁm%mw
@mﬁmw%? | 1

@) : | B)

©) | (D)

In which of the following four diagrams is the correct path of a ray of
light passing through a glass prism shown ?

@ ®)

(©) | (D)

317211 15 P.T.O.




34.

35.

36.

31/2/1

aﬁ%m’%m%wuﬁwa@mmwélmﬁmﬁmmwﬁ

A Wi st % @ wiifaes Toremt < gEt SIsT | o 98 39 o § U
Feh! Afsm TR wreie e § aa w21 gar 8 2 3 3 Jaor faRaw

A student is studying the properties of acetic acid. List two physical _
properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

‘ﬁ‘s‘mzﬁwﬁg@@gﬂrawmma«t%%ﬁlﬁi@ﬁﬁ?ﬂﬂ?mﬁ

qeaell g eE I 3 I%W@ﬁﬁﬁ@é@m%ﬁaﬁ@umw (HER)
gaisy | |

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence). .

1 B 80 om T R 20 om BT gh F Freft 39 oW 7o W F
e, @A R |ﬁmﬁé€@aﬁ30cmwag@aé;a@ﬁaﬂiqém
forest =1 diew gfdfors s it ® | 98 W e wifoms i wsha (Sear, den

feafia, Bver) 7 Bef 2 3T T B g o R st Wit |

A student places a 8-0 cm tall object perpendicular to the principal axis of
a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray
diagram to Justlfy your answer..
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